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MATHEMATICS SSC-lI
SECTION — A (Marks 15)

Time allowed: 20 Minutes (Science Group)

NOTE:

Section—-A is compulsory. All parts of this section are to be answered oh the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Circle the correct optioni.e. A/ B/ C/D. Each part carries one mark.

(M The sclution set of equation, 4x* —<16=0 is:
A {4} B. {4 C. {£2} D. £2
(ii) if r, 3 are the roots of 3x” +5x—2=0,then a+ S is:
5 - )
A > B. 3 C. ] D. it
3 5 3 3
(iii) Roots of the equation, 4x* —4x+1=0, are;
A. Real, equal B. Real, unequal C. Imaginary D. Irrational
{iv) Find 'x'in proportion 4:x::5:15
A 7 B. 4 C. 3 D 12
4 3 4
{v) The fourth proportional 'w' of x: yuv:wis
A 24 B. s C. X D. i
s X \)'1)
, . . x+2
(vi) Partial fractions of -5 ——are of the form:
(x+1)x" +2)
A . Ax+ B ¢ A By
A. —t 7B B. A +Bf+C C. bl ——D. —_—— !
x+1 x"+2 x+1 x +2 x+1  x+2 x+1 x <42
(vii) If number of elements in set 4 is ‘3" and in set Bis '2', then number of binary relations in 4x B is:
A. 28 B. 2* C. 2 D. 2°
(vii) A histogram is a set of adjacent;
A Squares B. Rectangles C. Circles D. Triangles
(ix) The observations that divide a data set into four equal parts are called:
A Deciles B. Quartiles C. Percentiles D. Medians
1 1 _
(x) —+ ——is equal to:
l1+sinf 1—siné
A 2sec’ 8 B. 2cos” @ C. sec” 6 D. cosd
(xi) Locus of a point in a plane equidistant from a fixed point is called:
A Radius B. Diameter C. Circumference D. Circle
(xit) A line which has only one point in common with a circle is called:
A Sine of a circle B. Cosine of a circle
C. Tangent of a circle D. Secant of a circle
(xiil) The length of a chord and the radial segment of a circle are congruent, the central angle made by the
chord will be:
A 30° B. 45° C. 60° D. 75"
(Xiv) The portion of a circle between two radii and an arc is called:
A Sectar B. Segment C. Chord D. Tangent
{xv) How many common tangents can be drawn for two touching circles?
A 1 B. 2 C. 3 D. 4
For Examiner’s use only: e
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NOTE: Attempt any nine parts from Section ‘B’ and any three questions from Section ‘C’' on the separately

provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

Q.2

Note:

Q.3
Q4.
Qs.

Q6.

Q7.

SECTION —~ B (Marks 36)
Attempt any NINE parts. All parts carry equal marks. (9x4=36)

(i) Solve the equation 5" +5'™ =26
(i) Ifthe roots of the equation (c* —ab)x® —2(a’ —bc)x + (b’ —ac) =0 are equal, then ¢ =0 or

3 3 K
a +b ¢ =3abe

(il If &, B are the roots of the equation 4x* —5x + 6 =0, then find the value of -;— + - ]-—1- :
a fi aff

(iv) Find the value of 4 using synthetic division, if 3 is the zero of the polynomial 2x° —3hx° +9 .
(v) The difference of a number and its reciprocal is g Find the number.
{vi) Find 'x' in the proportion 3—\_—122—):1

7 5 3 5
(vii) If "w' varies inversely as the cube of ¥ and w=5 when v =3 Find w when /=6 .
(vii)  Resolve —~—>——into partial fractions.

X+ 2x=-3
(ix) U ={12,3...201,X = {1.3,7,9,15,18,20} and ¥ ={1,3,5,....1 7} then show that: X -} =X "Y'
(x) If L={x|xeNArx<5land M ={y|yePAry<Ii0ithen make R={(x.y)| v—x=2)from . to M

s
) X+l . .
(xi) Resolve \} into partial fractions.

A+

{xii) A variable X takes the following values 4,5,8,6,2 . Find the mean of "X '. Also prove that sum of the

deviations from mean is zero.

(xiii) Find the area of the sector with central angte of —E—radians in a circle of radius 1 0¢mr.

| +cos& sin@

{xiv)  Verify the identity — + =2cosech.
sind I+cosf
SECTION - C (Marks 24)
Attempt any THREE questions. All questions carry equal marks. (3 x8=24)

Frove that perpendicular from the centre of a circle on a chord bisects it.
Prove that two tangents drawn to a circle from a point cutside it, are equal in length.
Prove that the angle:

(i) in a semi-circle is a right angle,
(ii) in @ segment greater than a semi-circle is less than a right angle,
(i) in a segment less than a semi-circle is greater than a right angle.

Escribe a circle ocpposite to vertex A to atriangle ABC with sides. | AB|=6cm. | BC |= dcm, | CAl= 3em
Find its radius also.
From an observation point, the angles of depression of two boats in line with this point are found to 30° and

45" . Find the distance between the two boats if the point of cbservation is 4000 feer high.
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